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- | have two cats.
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One has a black tail and the other has a yellow tail.
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| have two cats. One has a white tail. The other has a black tail.
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| have three cats. One has a white tail. The others have a black tail.
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| have three cats. One has a white tail. Another has a red tail. The other has a

black tail.
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| have many cats. Some have a white tail. Other
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| have many cats. Some of them have a white tail. The others have
a black tail.
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| don't know what to do.

= | don't know what | should do.
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| don't know why todoit. ( )
| don't know why | should doit. ( )
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He is a teacher which loves music. ()
He is a teacher who loves music. ()

He is a teacher that loves music. ()
The boy who sing is my brother. ()

The boy who sings is my brother. ()
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The boy who he sings is my brother. ()
The boy who sings is my brother. ()
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